RINSFE  AHRERRKR

@Ed— R EBEHES EEIENES] 1B 8 B 18 8 1B
242039 —HR PR SHEHKX 0 2P o HaRATEL AT 12
EHTKEE
IREBEK XIS 0 FTEEEE (KFTE2ET. ) nf 17,560
EREXRBSKEZHAO R411RED 123,189 A ) REHRAD 0 BEAS 2
EEEEHIKER —
IRFEHEK XIS EE 0 EPTEL 6
(DBEBKICHDDED) |E§§E
IREEHERAD = .
T (55%%@\7)\5&@) 0 SEBRN 18
" NS o RIEHK R EETE % B
5] 5 fE B PR 0 BHREE i 3
EST3S 895,153 BEHAAD 0 Rz 3
i TKES MEEEEAER RRE - HRAL
Wi 4,833,020 REHKSEN 0 SERSY 21
AT 242 BEHKAD 0 ETE 16
ElE RE S HEKHERR ;f;t;g ;g’;é N
#R Toft 0 (5BBKCHNBED) 0 SRS 3
N=E
rE% BRI 1,133,150 Al 0 B 2
mE IR ESHIK IR B pr— NERE
o) 52,700 SEHKRKITR 0 SERES 29
e =EN 996 I35+« SV HREBAD 0 R 0
2= 2 e - \ oo |
SHREFE P 954 GHNIBREBEAD 32,784 R S SITRBEH 0
BEIER (HEIFD) 66,016 THEAT Y7 tEE% ERIE 9 ERIE AT 6
RBPA EN=§-
MBIER (THEIF) 15,999 BEEt — BB IFHASTINERR | BT 0.0 CTaRE1=E N 13
nEBAD ooz | (B e B 0 B i 0
U ey 5 L BERIR
izl EFRRRERE 5,125 —EBHHAB IR | @ 0.0 sEBESN | A ;
pRE B AD 122,580 BT T HEER P 0 Sl T 5
—_ §E§%)\ iy v 2 =]
FRIGINES 48,221 —BlBHHAS IS | BT 0.5 SIERBSH A 9
s _ CRWE L SR SR -
—_— HEINE A 0 = Nﬁ*ﬁ rsRlEE RO RYA EPRER 0 . EPER T 3
—ammEaE| A of [ BTN _mmmma e | s 15 SERESN | A 0
v/ SEENE v YN — — — -
BRIk HENE A 0 B A BT T fEE% R 0 RV 5— ERTE 0 3
H 4O HESD — -
BGHEE —BEFASE | A 0 m=h —EPEBIBASIIESR | BT 0.0 SFEOR BT T 0
BEBKAD | A 71,333 IREMER | hEATIhEES PR 0 BROKR SITRBEH A 0
IREENEER
HEHKEE®E | nf 32,260,000 SRR | HETATIINEER ERiED 0 . R T 299
T - ER1ER
REEHK XIS 19,142,500 . $ME | HENIIER Gl 2 @& 18,127
- o R RE - JU— -
STEHERABI 1 CoEE |citm AT Y7 tEE% BRI 1 J— Tih (& 3,671,179
TKEE | nHEHTKE AR | f 1 B GEEE) 407,396
NEME
HEEREE 32,260,000 tith (R 469,152
ZEAE
BIEMERISEE 19,142,500 By GEER) 475
FIFURREAAC 71,333 THRRES T (hiE) 6,963
HE
REKHEFREAAD 59,443 ZDMOEE i G2} 0




